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General Instructions :

Read the following instructions very carefully and strictly follow them.

(i) This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

(it)  Section A - Question nos. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

(iti) Section B — Question nos. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C — Question nos. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v)  Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Name two infections which can be sexually transmitted in human beings. 1
2. Define pole of a spherical mirror. 1
3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Matter around us is found in the form of elements, compounds and
mixtures. The elements contain atoms of only one type. Around the
year 1800, only 30 elements showing different properties were known.
Scientists of that age discovered a pattern in their properties and based
on that pattern, several attempts were made to classify elements. The
earliest attempt was to classify the elements as metals and non-metals.
The latest is the ‘Modern Periodic Table’. This table consists of 7 periods
and 18 groups. Each element of a group in the periodic table has the
identical outer shell electronic configuration. In other words, the groups
in the periodic table signify an identical outer shell electronic
configuration. As we go down the group in the periodic table, the number
of shells increases.
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3(a) Write the need to classify elements. 1
3(b) How many groups are there in the ‘Modern Periodic Table’ ? 1

3(c) Which one of the following statements is not correct about the
‘Modern Periodic Table’ ? 1

(A) Itis based on atomic masses.
(B)  The position of isotopes is not disputed.
(C)  The position of isotopes is easily assigned.

(D) It separates metals from non-metals.

3(d) The cause of periodicity of properties of elements is 1
(A) Increasing atomic radius
(B) Increasing atomic mass
(C)  Increasing nuclear charge

(D)  The recurrence of similar outer electronic configuration

4. Answer question numbers 4(a) — 4(d) on the basis of your understanding
of the following paragraph and the related studied concepts :

There are different forms of energy and one form of energy can be
converted into another. When we light a wax candle, the process is highly
exothermic and on burning, the chemical energy of the wax gets
converted into heat and light. A good source of energy is to be selected for
the choice of work to be done. In ancient times, wood was the most
common source of heat energy. We, in our daily lives, use various energy
sources for doing the work. Nowadays we use diesel and electricity to run
trains. We also use fossil fuels in vehicles which has some serious
disadvantages, mainly air pollution. The recent example of air pollution
was ‘Smog’ in the National Capital Region of Delhi. This pollution was a
result of burning ‘Parali’ in northern states of the country, which affected
the eyes and also caused serious respiratory problems.
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4(a) State the energy conversion that takes place when we light a wax

candle. 1

4(b) List two criteria of selecting a source of energy for a specific work. 1

4(c) Write the names of two fossil fuels. 1

4(d) Why are we looking at alternate sources of energy ? 1

5. Which one of the following natural sources contains Oxalic acid ? 1
(A) Tomato

(B) Tamarind
(C) Ant sting
(D)  Nettle sting

OR
The acid produced in our stomach during digestion of food is 1
(A)  Hydrochloric acid
(B) Oxalic acid
(C) Lactic acid
(D)  Acetic acid
6. Copper utensils slowly lose their shiny brown surface and gain a green

coat on prolonged exposure to atmospheric air. This is due to the

formation of a coating of 1
(A)  Copper sulphate
(B)  Copper carbonate
(C)  Cupric oxide
(D)  Cuprous oxide
sumL g 7 _PTO.
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7. Which one of the following statements is true about the position of metals

in the activity series of metals ?

(A)  Copper is below hydrogen but above lead.

(B)  Iron is below lead and zinc.

(C)  Zinc is below magnesium but above aluminium.

(D) Magnesium is below calcium but above aluminium.

Sunlight

8. CH,4 + Cly > CH3Cl + HC1
The above reaction is an example of
(A) displacement reaction

(B) addition reaction

(C) substitution reaction

(D)  double displacement reaction

9. The stamen contains
(A) stigma
(B) pollen grain
(C) sepal
(D)  ovule

OR
Seeds are called products of sexual reproduction because they
(A) give rise to new plants.
(B)  are formed by fusion of gametes.
(C) are formed by the fusion of pollen tubes.
(D)  can survive for a longer period.

3UAL 9 PTO.
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10. Consider the following ecosystems :

L.
II.

III.

IV.

Ponds
Forests

Aquariums

Crop fields

Out of these, the natural ecosystems are

(A)
(B)
(©)
(D)

I, IT and III
II, IIT and IV
I and II only

ILII and IV
OR

What will happen if the deer are missing in the following food chain ?

(A)
(B)
©)
(D)

Grass —— Deer —— Tiger

The population of tigers will increase.
The amount of grass will decrease.
The tigers will die.

The tigers will start eating grass.

11.  Which of the following are the aims of watershed management ?

L.
IT.
I11.
IV.
(A)
(B)
(C)
(D)
31/A/1

Soil and water conservation
Decrease the biomass production
Mitigation of droughts and floods
Increase the life of the downstream dams and reservoirs
IT and IITI only
I, IIT and IV
III and IV only
LIl and IV
11
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12. If vast tracts of forests are cleared and a single species of plant is

cultivated, then this practice will promote 1
(A)  Dbiodiversity in the area.

(B)  monoculture in the area.

(C)  soil fertility.

(D) preservation of the natural ecosystem.

For question numbers 13 and 14, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (i), (ii), (iii) and (iv) as

given below :

1) Both (A) and (R) are true and (R) is the correct explanation of the

assertion (A).

(ii))  Both (A) and (R) are true, but (R) is not the correct explanation of

the assertion (A).
(i11)  (A) is true, but (R) is false.
(iv)  (A)is false, but (R) is true.

13. Assertion (A) : Plant hormones are chemicals produced in plants which
help to coordinate growth, development and response to

stimulus and environment.

Reason (R):  Abscisic acid is a plant hormone that promotes cell division. 1

14. Assertion (A) : Amoeba always produces two daughter amoebae while

Plasmodium divides into many daughter cells.

Reason (R): Amoeba undergoes binary fission while Plasmodium
undergoes multiple fission. 1
3UAL 59 13 PTO.
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SECTION B

What happens when food materials containing fats and oils are left for a
long time ? List two observable changes and suggest a way by which this

phenomenon can be prevented.

How do metal carbonates and metal hydrogen carbonates react with
acids ? Taking magnesium as metal, write balanced chemical equations
in both the cases. State the method to test the gas evolved in the

reactions.

Draw a labelled diagram of the set-up of a circuit to show that metals are

good conductors of electricity.
OR

Draw a labelled diagram of the experimental set-up to study the action of

steam on a metal. Name the gas produced in the reaction.

In the ‘Modern Periodic Table’, a zigzag line separates metals from
non-metals. Name any two borderline elements. What will be the atomic
size of the elements on the right hand side of this as compared to the

elements of the same period present on this line and why ?

In the human body the site of absorption of digested food is the small
intestine. How is the process of absorption carried out and why is

absorption of digested food necessary ?

The plants were wilting in a garden and the gardener watered the plants.
The plants became fresh again. Which part of the plant is responsible for
conducting water in it and how does the process of conduction of water

take place in plants ?
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21. Name the most suitable method of raising a banana plant. Is this mode of
reproduction sexual or asexual ? List three advantages of growing plants
by such a method. 3

OR

Name the process of reproduction observed in yeast. Design an activity to
observe this mode of reproduction in a school laboratory. Name one more

organism which reproduces by this mode. 3

22, (a) To get an enlarged, real and inverted image of an object by a
concave mirror, where should the object be placed ? Draw a

labelled ray diagram to justify your answer.

(b)  If an object is placed at the centre of curvature of this mirror, what
will be the magnification produced ? 3
23. Name the type of mirror which facilitates
(a)  Shaving,
(b)  Observing large images of the teeth of a patient, and
(c) Observing the rear view in vehicles.

Give reason to justify your answer in each case. 3
OR

Study the ray diagram given below and answer the questions that follow :

A

0 Fy 2F; B

oF, B F,

A
(a)  Isthe type of lens used converging or diverging ?
(b)  List three characteristics of the image formed.
(c) In which position of the object will the magnification be — 1 ? 3

3UAL 8 17 PTO.
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24. Study the diagram given below and answer the questions that follow :

(a)  Why do the iron filings arrange in such a pattern ?
(b)  What does this pattern demonstrate ?

(¢)  Why do the iron filings near the bar magnet seem to align in the

shape of closed curves ? 3

SECTION C

25. A compound ‘A’ (molecular formula C3HgO9) reacts with sodium metal to
form compound ‘B’ and evolves a gas which burns with a pop sound. The
compound ‘A’ on treatment with alcohol ‘C’, found in beer, in presence of
concentrated sulphuric acid, forms a sweet smelling compound ‘D’
(molecular formula C5H130O9). On addition of NaOH to ‘A’ it also gives ‘B’
and water. ‘D’ on treatment with NaOH gives back ‘B’ and ‘C’. Identify
‘A’, ‘B’, ‘C’ and ‘D’ and write down the chemical equations of the reactions

involved. 5

OR
_ R
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26.

27.

28.

(a)

(b)

(c)

A compound ‘X’ undergoes addition reaction with Hyg to form a
compound Y’ having molecular mass 30 g mol~1. X’ decolorises
bromine water and burns with a smoky flame. Identify X’ and Y’

and write chemical equations of the reactions involved.

Write the structural formulae of (i) Butanone, and (i1) Pentanoic

acid.

Would you be able to check if water is hard by using a detergent ?

Give reason to justify your answer.

What constitutes the central and peripheral nervous systems ? How are

the components of central nervous system protected ? Which signals will

get disrupted in case of a spinal cord injury ?

(a)

(b)

We see eyes in Planaria, insects, octopus and vertebrates.

(1) Can eyes be grouped together in case of the above mentioned

organisms to establish a common evolutionary origin ? Why ?

(ii))  Can these organisms be grouped together on the basis of the

eyes they possess ? Give justification to your answer.

State evidence to prove that birds have evolved from reptiles.

OR

What are fossils ? How are they formed ? How do we determine the age of

fossils ?

(a)

(b)

31/A/1

Name two defects of vision. Mention two main causes of each
defect.

A person uses spectacles having lenses of focal length — 2-:0 m.
Determine the nature and power of the lenses used in his

spectacles.
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29. (a)
(b)

(a)

(b)
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29. (a) List two disadvantages of using a series circuit in homes.

(b) Calculate the effective resistance between A and B in the circuit

given below :

OR

(a) Derive the relation for the equivalent resistance when three

resistors of resistances R;, Rg and R3 are connected in parallel.

(b) Find the minimum resistance that can be made using four

resistors, each of 20 Q.

30. “A current carrying straight conductor experiences a force perpendicular
to its length and the magnetic field.” Design an activity for the
verification of the above mentioned statement and describe it with a

labelled diagram.
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General Instructions :
Read the following instructions very carefully and strictly follow them.

(i) This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

(it)  Section A — Question nos. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

(iti) Section B — Question nos. 15 to 24 are short answer type questions,

carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C — Question nos. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v)  Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
How many pairs of chromosomes are present in human beings ? 1
2. Define pole of a spherical mirror. 1
3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Matter around us is found in the form of elements, compounds and
mixtures. The elements contain atoms of only one type. Around the
year 1800, only 30 elements showing different properties were known.
Scientists of that age discovered a pattern in their properties and based
on that pattern, several attempts were made to classify elements. The
earliest attempt was to classify the elements as metals and non-metals.
The latest is the ‘Modern Periodic Table’. This table consists of 7 periods
and 18 groups. Each element of a group in the periodic table has the
identical outer shell electronic configuration. In other words, the groups
in the periodic table signify an identical outer shell electronic
configuration. As we go down the group in the periodic table, the number
of shells increases.
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3(a) Write the need to classify elements. 1
3(b) How many groups are there in the ‘Modern Periodic Table’ ? 1

3(c) Which one of the following statements is not correct about the
‘Modern Periodic Table’ ? 1
(A) Itis based on atomic masses.
(B)  The position of isotopes is not disputed.
(C)  The position of isotopes is easily assigned.

(D) It separates metals from non-metals.

3(d) The cause of periodicity of properties of elements is 1
(A) Increasing atomic radius
(B) Increasing atomic mass
(C)  Increasing nuclear charge

(D)  The recurrence of similar outer electronic configuration

4. Answer question numbers 4(a) — 4(d) on the basis of your understanding
of the following paragraph and the related studied concepts :

There are different forms of energy and one form of energy can be
converted into another. When we light a wax candle, the process is highly
exothermic and on burning, the chemical energy of the wax gets
converted into heat and light. A good source of energy is to be selected for
the choice of work to be done. In ancient times, wood was the most
common source of heat energy. We, in our daily lives, use various energy
sources for doing the work. Nowadays we use diesel and electricity to run
trains. We also use fossil fuels in vehicles which has some serious
disadvantages, mainly air pollution. The recent example of air pollution
was ‘Smog’ in the National Capital Region of Delhi. This pollution was a
result of burning ‘Parali’ in northern states of the country, which affected

the eyes and also caused serious respiratory problems.
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4(a) State the energy conversion that takes place when we light a wax

candle. 1

4(b) List two criteria of selecting a source of energy for a specific work. 1

4(c) Write the names of two fossil fuels. 1

4(d) Why are we looking at alternate sources of energy ? 1

5. Which one of the following statements is not correct ? 1

(A)  Generally, all metal carbonates react with acids to give salt, water
and carbon dioxide.

(B)  All metal oxides react with water to give salt and hydrogen gas.
(C)  Some of the metals react with acids to give salt and hydrogen gas.

(D) Some non-metal oxides react with water to form acids.

OR
Consider the following compounds : 1
L HCl
II1. CoH5OH
ITI. CgHq190¢
IV.  HySOy4

Which of these compounds do not conduct electricity in solution ?
(A) TandII

(B) II and III

(C) III and IV

(D) TandIV

6. When steam is passed over red hot iron 1
(A) No reaction takes place.
(B)  Og and Fe(OH)g are formed.
(C) Hg and FegOy4 are formed.
(D) Hgy and FeyOg are formed.
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7. CH,+ Cl, —>unlight

> CH3Cl + HCl

The above reaction is an example of 1
(A) displacement reaction

(B) addition reaction

(C)  substitution reaction

(D)  double displacement reaction

8. Consider the following ecosystems : 1
I. Ponds
II. Forests

III. Aquariums

IV.  Crop fields

Out of these, the natural ecosystems are
(A) I,IIand]III

(B) II,III and IV

(C) TandIIonly

D) L IIandIV

OR

What will happen if the deer are missing in the following food chain ? 1
Grass —— Deer —— Tiger

(A)  The population of tigers will increase.
(B) The amount of grass will decrease.
(C)  The tigers will die.

(D)  The tigers will start eating grass.

9. If vast tracts of forests are cleared and a single species of plant is
cultivated, then this practice will promote 1

(A)  biodiversity in the area.
(B)  monoculture in the area.
(C)  soil fertility.

(D) preservation of the natural ecosystem.
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10. Which one of the following statements is true about the position of metals

in the activity series of metals ?

(A)
(B)
(&)
(D)

11. Which one of the following is not an advantage of building large dams ?

(A)
(B)
(®)
(D)

Copper is below hydrogen but above lead.
Iron is below lead and zinc.
Zinc is below magnesium but above aluminium.

Magnesium is below calcium but above aluminium.

Adequate storage of water
Generation of electricity
Decrease in biological diversity

Use in growth of water intensive crops

12. The stamen contains

(A)
(B)
©)
(D)

stigma
pollen grain
sepal

ovule

OR

Seeds are called products of sexual reproduction because they

(A)
(B)
(&)
(D)

31/A/2 %%

give rise to new plants.
are formed by fusion of gametes.
are formed by the fusion of pollen tubes.

can survive for a longer period.
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For question numbers 13 and 14, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (i), (ii), (iii) and (iv) as

given below :

) Both (A) and (R) are true and (R) is the correct explanation of the

assertion (A).

(i1)  Both (A) and (R) are true, but (R) is not the correct explanation of
the assertion (A).

(i11)  (A) is true, but (R) is false.
(iv)  (A) is false, but (R) is true.

13. Assertion (A) : The brain allows us to think and take actions based on
that thinking.

Reason (R): The hind brain is the main thinking part of the brain
which has regions which receive sensory impulses from
various receptors. 1

14. Assertion (A) : Amoeba always produces two daughter amoebae while
Plasmodium divides into many daughter cells.

Reason (R): Amoeba undergoes binary fission while Plasmodium
undergoes multiple fission. 1

SECTION B

15. About 2 g ferrous sulphate crystals are heated in a dry boiling tube.

1) What is the colour of ferrous sulphate crystals before and after
heating ?

(ii)) Name the gases that are evolved on heating the crystals.
(iii) Name the type of chemical reaction taking place.

(iv)  Write the chemical equation for the reaction. 3
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17.

18.

19.

20.

21.
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The plants were wilting in a garden and the gardener watered the plants.
The plants became fresh again. Which part of the plant is responsible for
conducting water in it and how does the process of conduction of water

take place in plants ?

In the human body the site of absorption of digested food is the small
intestine. How is the process of absorption carried out and why is

absorption of digested food necessary ?

Draw a labelled diagram of the set-up of a circuit to show that metals are
good conductors of electricity.
OR

Draw a labelled diagram of the experimental set-up to study the action of

steam on a metal. Name the gas produced in the reaction.

How do metal carbonates and metal hydrogen carbonates react with
acids ? Taking magnesium as metal, write balanced chemical equations
in both the cases. State the method to test the gas evolved in the

reactions.

In the ‘Modern Periodic Table’, a zigzag line separates metals from
non-metals. Name any two borderline elements. What will be the atomic
size of the elements on the right hand side of this as compared to the
elements of the same period present on this line and why ?

What are sexually transmitted diseases ? Name one sexually transmitted
disease each, caused by a virus and a bacterium. List two benefits of
using mechanical barriers during the sexual act.

OR

Name the type of asexual reproduction in which two individuals are
formed from a single parent and the parental identity is lost. Draw the
initial and final stages of this type of reproduction. Write the event with
which this process starts and draw its labelled diagram.
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22. State the laws of reflection of light. List four characteristics of the images

formed by plane mirrors.

23. Study the diagram given below and answer the questions that follow :

(a)  Why do the iron filings arrange in such a pattern ?

(b)  What does this pattern demonstrate ?

(c) Why do the iron filings near the bar magnet seem to align in the

shape of closed curves ?
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24. Name

the type of mirror which facilitates

(a)  Shaving,
(b)  Observing large images of the teeth of a patient, and
(c) Observing the rear view in vehicles.
Give reason to justify your answer in each case.
OR
Study the ray diagram given below and answer the questions that follow :
A
2F; B Fy
A
(a)  Isthe type of lens used converging or diverging ?
(b)  List three characteristics of the image formed.
(c) In which position of the object will the magnification be — 1 ? 3
SECTION C
25. (a) Write the names and structures of (i) an alcohol, and (ii) an
aldehyde with four carbon atoms in their molecules.
(b)  List two differences between saturated and unsaturated
hydrocarbons. 5
OR
19 PTO.
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(a)  State any two reasons for carbon forming a large number of
compounds. Why does carbon form compounds

) mainly by covalent bonding ?

(i1))  having low melting and boiling points ?

(b) With the help of balanced chemical equations, explain what
happens when

(1) a piece of sodium is added to ethanol ?

(i1)  ethanol burns in the presence of oxygen ? 5

26. “A current carrying straight conductor experiences a force perpendicular
to its length and the magnetic field.” Design an activity for the
verification of the above mentioned statement and describe it with a

labelled diagram. 5

27. (a) List two disadvantages of using a series circuit in homes.

(b) Calculate the effective resistance between A and B in the circuit
given below : 5

OR

(a) Derive the relation for the equivalent resistance when three
resistors of resistances R;, Rg and Rg are connected in parallel.

(b) Find the minimum resistance that can be made using four

resistors, each of 20 Q. 5
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28. (a) Name two defects of vision. Mention two main causes of each

defect.

(b) A person uses spectacles having lenses of focal length — 2:0 m.
Determine the nature and power of the lenses used in his

spectacles.

29. What constitutes the central and peripheral nervous systems ? How are
the components of central nervous system protected ? Which signals will

get disrupted in case of a spinal cord injury ?

30. (a) We see eyes in Planaria, insects, octopus and vertebrates.

(1) Can eyes be grouped together in case of the above mentioned

organisms to establish a common evolutionary origin ? Why ?

(ii))  Can these organisms be grouped together on the basis of the

eyes they possess ? Give justification to your answer.
(b)  State evidence to prove that birds have evolved from reptiles.

OR

What are fossils ? How are they formed ? How do we determine the age of

fossils ?
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General Instructions :

Read the following instructions very carefully and strictly follow them.

(i) This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

(it)  Section A - Question nos. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

(iti) Section B — Question nos. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C — Question nos. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v)  Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
Name two infections which can be sexually transmitted in human beings. 1
2. How can a concave mirror be identified without touching ? 1
3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Matter around us is found in the form of elements, compounds and
mixtures. The elements contain atoms of only one type. Around the
year 1800, only 30 elements showing different properties were known.
Scientists of that age discovered a pattern in their properties and based
on that pattern, several attempts were made to classify elements. The
earliest attempt was to classify the elements as metals and non-metals.
The latest is the ‘Modern Periodic Table’. This table consists of 7 periods
and 18 groups. Each element of a group in the periodic table has the
identical outer shell electronic configuration. In other words, the groups
in the periodic table signify an identical outer shell electronic
configuration. As we go down the group in the periodic table, the number
of shells increases.
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3(a) Write the need to classify elements.
3(b) How many groups are there in the ‘Modern Periodic Table’ ?

3(c) Which one of the following statements is not correct about the
‘Modern Periodic Table’ ?
(A) Itis based on atomic masses.
(B)  The position of isotopes is not disputed.
(C)  The position of isotopes is easily assigned.

(D) It separates metals from non-metals.

3(d) The cause of periodicity of properties of elements is
(A) Increasing atomic radius
(B) Increasing atomic mass
(C)  Increasing nuclear charge

(D)  The recurrence of similar outer electronic configuration

4. Answer question numbers 4(a) — 4(d) on the basis of your understanding
of the following paragraph and the related studied concepts :

There are different forms of energy and one form of energy can be
converted into another. When we light a wax candle, the process is highly
exothermic and on burning, the chemical energy of the wax gets
converted into heat and light. A good source of energy is to be selected for
the choice of work to be done. In ancient times, wood was the most
common source of heat energy. We, in our daily lives, use various energy
sources for doing the work. Nowadays we use diesel and electricity to run
trains. We also use fossil fuels in vehicles which has some serious
disadvantages, mainly air pollution. The recent example of air pollution
was ‘Smog’ in the National Capital Region of Delhi. This pollution was a
result of burning ‘Parali’ in northern states of the country, which affected

the eyes and also caused serious respiratory problems.
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4(a)

31/A/3 %%

State the energy conversion that takes place when we light a wax

candle. 1
4(b) List two criteria of selecting a source of energy for a specific work. 1
4(c) Write the names of two fossil fuels. 1
4(d) Why are we looking at alternate sources of energy ? 1
5. Copper utensils slowly lose their shiny brown surface and gain a green
coat on prolonged exposure to atmospheric air. This is due to the
formation of a coating of 1
(A)  Copper sulphate
(B)  Copper carbonate
(C)  Cupric oxide
(D)  Cuprous oxide
6. Which one of the following statements is true about the position of metals
in the activity series of metals ? 1
(A)  Copper is below hydrogen but above lead.
(B)  Iron is below lead and zinc.
(C)  Zinc is below magnesium but above aluminium.
(D) Magnesium is below calcium but above aluminium.
7. Which one of the following natural sources contains Oxalic acid ? 1
(A) Tomato
(B) Tamarind
(C) Ant sting
(D) Nettle sting

OR
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The acid produced in our stomach during digestion of food is 1
(A)  Hydrochloric acid

(B)  Oxalic acid

(C) Lactic acid

(D)  Acetic acid

8. Which one of the following compounds changes blue litmus to red ? 1
(A) CoH;0H
(B) CH3COCHj4
(C) CyH5CHO
(D) CoH5COOH

9. Which one of the following is not a part of the human female
reproductive system ? 1

(A)  Ovary
(B)  Oviduct
(C)  Uterus
(D) Seminal vesicle
OR

Which of the following techniques is used as a contraceptive method in
males only ? 1

(A) Copper-T

(B)  Oral pills

(C)  Blockage of fallopian tube
(D)  Blockage of vas deferens

10. A system of inter-dependent food chains represents 1
(A) Food web
(B)  Trophic levels
(C)  Ecosystem
(D) Community
OR
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Disposable plastic plates should not be used because
(A)  they are made of non-biodegradable materials.
(B)  they are made of biodegradable materials.

(C)  they are made of toxic materials.

(D) they are made of materials with light weight.

11. If vast tracts of forests are cleared and a single species of plant is

cultivated, then this practice will promote
(A)  biodiversity in the area.

(B)  monoculture in the area.

(C)  soil fertility.

(D)  preservation of the natural ecosystem.

12.  Which of the following are the aims of watershed management ?
I Soil and water conservation
II. Decrease the biomass production

ITI. Mitigation of droughts and floods

IV. Increase the life of the downstream dams and reservoirs
(A) II and IIT only

(B) L IIIandIV

(C) III and IV only

(D) LIlandIV
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For question numbers 13 and 14, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (i), (ii), (iii) and (iv) as

given below :

) Both (A) and (R) are true and (R) is the correct explanation of the

assertion (A).

(ii))  Both (A) and (R) are true, but (R) is not the correct explanation of

the assertion (A).
(i)  (A)is true, but (R) is false.
(iv)  (A) is false, but (R) is true.

13. Assertion (A) : Plant hormones are chemicals produced in plants which
help to coordinate growth, development and response to

stimulus and environment.

Reason (R):  Abscisic acid is a plant hormone that promotes cell division. 1

14. Assertion (A) : Testes are located outside the abdominal cavity in the

scrotum.

Reason (R): Because sperm formation requires lower temperature than

the normal body temperature. 1

SECTION B

15. In the ‘Modern Periodic Table’, a zigzag line separates metals from
non-metals. Name any two borderline elements. What will be the atomic
size of the elements on the right hand side of this as compared to the

elements of the same period present on this line and why ? 3
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SETYT T IR ARG WU |

AT

fopelt oTq W W9 hT TR o A % foTu wRNfiTeR Sawe 1 AR STN@
difa | Afufsen o s areft f1 =1 9m fafew |

qreql § arsdicdsiH <kl Ufshar st 9ui4 hIfu | I8 gfskan et g1ew st gU-w

3TN T%Y WA U for YR @8r™dr hidt 2 2

(a) Torelt sraact qdur @ foreft forrar =i fobe g8 ot T STQ dtfer 3T gUl
g1 Toafia, aredfaes iR 3l Uiafera o+ ? 19+ IW i gfE & faw
JTfeRa fertor e difem |

(b) Ifg foret fora =t 3Et qUUr & ashdl g W T, A1 39 3TMELT &
BT ?
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16. (a) You are provided with concentrated sulphuric acid. Describe the

process of preparing a dilute solution of sulphuric acid.
(b)  What is the effect of dilution on (H50"/OH") ratio ?

(¢)  If the H30" ion concentration is increased in a solution, will the
pH increase or decrease ? What are the probable colours of pH

paper if the pH range is 0-5 to 2:0 ? 3

17. What happens when food materials containing fats and oils are left for a
long time ? List two observable changes and suggest a way by which this

phenomenon can be prevented. 3

18. Draw a labelled diagram of the set-up of a circuit to show that metals are

good conductors of electricity. 3

OR

Draw a labelled diagram of the experimental set-up to study the action of

steam on a metal. Name the gas produced in the reaction. 3

19. Describe the process of transpiration in plants. How does this process

help the plant in remaining fresh and healthy ? 3

20. (a) To get an enlarged, real and inverted image of an object by a
concave mirror, where should the object be placed ? Draw a

labelled ray diagram to justify your answer.

(b)  If an object is placed at the centre of curvature of this mirror, what

will be the magnification produced ? 3
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21.

22.

23.

3 TYUT h YRR i A1 fARaw St wgmrar it 3

(a) 9w T,

(b) UM o Sidi o o Fidfewal T Y07 hid |, qoT
(c)  dTEHl H 9T G2 I &0 A H |

3T I hT gfE o I g gehtor § e e |

AT
Fa fau 7t fomtor sti@ w1 s1eweE s f=forfiga goai & s i .

A
) : 0 F, 2F;, @

A
(a) 39N foran T i@ STERY B STrET ST B 2
(b) &9 9T fdfors & i stfirereron it gt SR |

(¢c) fora & form feufa & smaea - 180 2

fopet anfier & dte qeen @ 9 qen arell I 39 de o 2 fean, @ @g fe
T AT B T | T GGl W A S T8 % T ST HIH-AT W SOERT § a9

N § T o I8 bl Ifshat forg TR BIdl 8 2

FA & Y ® ITE h Falfs U [t w1 9w fafey | s 6 7 oty
Mk & ST Iifeh ? 39 Tafy gRI 919 I o6 i ATHI hl = ST |

AT

Aee # fe@E o gl 9 < Uik =1 AW faige | faeme < = |
S99 bl 39 faum o1 Jgor @ & forw fordt foramera Y sifirerewn hifso |

Torelt 31 Sfta <1 A Tafgu S ) faan @ S99 a1 2§ |
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21. Name the type of mirror which facilitates
(a)  Shaving,
(b)  Observing large images of the teeth of a patient, and
(c) Observing the rear view in vehicles.

Give reason to justify your answer in each case. 3

OR

Study the ray diagram given below and answer the questions that follow :

A

0 Fy 2F; B

9F, B F,

A
(a)  Isthe type of lens used converging or diverging ?
(b)  List three characteristics of the image formed.

(c) In which position of the object will the magnification be — 1 ? 3

22. The plants were wilting in a garden and the gardener watered the plants.
The plants became fresh again. Which part of the plant is responsible for
conducting water in it and how does the process of conduction of water

take place in plants ? 3

23. Name the most suitable method of raising a banana plant. Is this mode of
reproduction sexual or asexual ? List three advantages of growing plants
by such a method. 3

OR

Name the process of reproduction observed in yeast. Design an activity to
observe this mode of reproduction in a school laboratory. Name one more
organism which reproduces by this mode. 3
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24. UNATRT foht ShEd & ? TRl aRETEl qiATTcTeRT o hRUT Jrarehid & TE@IsTi h
Y I GIU | qiETiereRt o SR & 1 9o @1 SR HAaT @ 2 39 & o U
39 fafEm |

25. (a)

(b)
(c)

(a)

(b)

26. (a)

(b)

31/A/3

Qus T
HE Afushan W q FEH R SNl 8 ? G HRON Bl GG
IS |
(i) T, T (ii) T AT geierzi-foirg HCarTd ST |
I3 ek A A’ (M0 T CoH404) IR oh TRV H ITAM
Terarm STTaT 8 e 98 Eifeaw arg & SAMfRAT S W gTegien 19 <ar 8 |
(i) ‘A’ ol UgETT, Qe
(i)  THH HLEATCHS g faRau |

rerat

F= @ g srfufshaneti w1 qu iR
LRICARCaN

(1) CH4 + Clz > ?

) R-C=C-R+Hy,—N, 9
S

||
R R

AR fF9 hgd & ? T BAl & I his AFHIhh U |

T ST 8 2 T gHieRtr shl "erar 9 et hifsu |

(i) 9 Tty qem (i) 9reRiss Uy g arfaa g|E o1 AW faiaw qe
T % Teh THE H1 1 3g@ HioC | A fopelt =afw 0w grHMI
$I B U, @ IFh W H Icqd B drl guriad TRl % A
fafau |

Hifad B a1l BIHH h1 TRI T 3IHeh! AT 1 01 forg TR foma
7T & 2 3218 Higd SR hifoig |
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24. What

is a solenoid ? Draw the pattern of magnetic field lines due to a

current carrying solenoid. What does the field pattern inside the solenoid

indicate ? State one use of this field.

25. (a)

(b)
(c)

(a)

(b)

26. (a)

(b)

31/A/3 %%

SECTION C

Why does carbon show catenation to maximum extent ? List two

reasons.

Draw electron dot structures of (i) ethane, and (ii) ethene.

An organic compound ‘A’ (molecular formula CoH4O9) is used for

preserving pickles and gives hydrogen gas with sodium metal.
(1) Identify ‘A’, and
(i1)  Write its structural formulae.

OR

Complete the following reactions :

() CH,+Cl, —>unlisht
(i) R-C=C-R+Hy—N, 9

| | heat

R R

What is an oxidising agent ? What happens when an oxidising
agent is added to propanol ? Explain with the help of chemical

equation.

Name the hormone secreted by (i) Pituitary, and (ii) Thyroid
stating one main function of each. Name the disorder a person is
likely to suffer from due to the deficiency of the above mentioned

hormones.

How is the timing and amount of hormone released regulated ?

Explain with an example.

19 PTO.



27. (a) O H Joft 9f9Y 1 I HH F T ATl g FIHAT I G SR |
(b) = feu 7w ufgy § A 3R B & = avrel gfdtg aitesfaa Hifse

6 Q

A AAAY

Q

e A

S50

3Q

AT

(a) 9 H HAA Ry, Ry 3R Ry Uil o i SiaUiehl & god iald &

foTe geeg sgeam ShifvT |

(b) TR Ufcigess S0 Icdsh 1 IfaUg 20 Q 8, T SUAT Hlsh ST S
Hehd a1l Team afatg Jma i |

28. “PIE gmaTdl THen etsh AU TS IR FEIh & b TrIdd 9t i 39
AT 8 |7 ITAH HAT b GeATaT o Tow Tereft fopamerea &t afvrsheu shifse
IR ATHIfeRd 3T o 91 IHehT U hIFVT |

29. (a) BH WM, Sl TFdE qT ISR H g <@d 2 |

(i) o I9YH SEl oh YRl H ATGl P Th g H W@t THH

TaerTEia Icufa Tenfud <Al ST Tehdl & 2 &I 2

(i) T S Sl I FTh! @I o YR W Th 1 Th T8 H W1
ST Tehdl 3 ? 3194 I hl gfE il |

(b) I8 Heya & foaw s e for aferi w1 faem a9yl & gon

2|

AT

Siiamed &= § ? 3 fohe YR SFd & ? g9 Siamwdi shi o1y @1 Feair fhe yeR

H 7 ?
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27. (a) List two disadvantages of using a series circuit in homes.

(b) Calculate the effective resistance between A and B in the circuit

given below : 5

OR

(a) Derive the relation for the equivalent resistance when three

resistors of resistances R;, Rg and R3 are connected in parallel.

(b) Find the minimum resistance that can be made using four
resistors, each of 20 Q. 5

28. “A current carrying straight conductor experiences a force perpendicular
to its length and the magnetic field.” Design an activity for the
verification of the above mentioned statement and describe it with a

labelled diagram. 5

29. (a) We see eyes in Planaria, insects, octopus and vertebrates.

(1) Can eyes be grouped together in case of the above mentioned
organisms to establish a common evolutionary origin ? Why ?

(i1))  Can these organisms be grouped together on the basis of the
eyes they possess ? Give justification to your answer.

(b)  State evidence to prove that birds have evolved from reptiles. 5

OR

What are fossils ? How are they formed ? How do we determine the age of
fossils ? 5
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30. (a) aI gl ani % W fifau | g < % & ygE SRl % 3gE HiT |

(b) IS ARk A =RH H — 20 m BIHH U % &l B I Hl & |
9 § I foRu MU el 1 wepfa ot wiftk fetfa Hifs |
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30. (a) Name two defects of vision. Mention two main causes of each

defect.

(b) A person uses spectacles having lenses of focal length — 2-0 m.
Determine the nature and power of the lenses used in his

spectacles.

EEE
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